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The hybridization of XeF; is:

a. spid b. sp?

c. spid? d. sp?

Find the molecule having the highest bond order.

a. Oy b. Or

C. 021' d. Oz

The formal charge of O3 molecule is:

a. -1,+1,-1 b. -1,0,+1

c. +1,+1,-1 d. None of the above

Which of the following species are isoelctronic?
a. Nz, CO, NO* b. Oz N, CO
c. Oz NO, CO2 d. All of the above

The geometry of BF3 molecule is:

a. Trigonal planar b. Tetrahedral

c. Square planar d. All of the above
[Ni(CN);]J2- has which geometry?

a. Square planer b. Trigonal bipyramid
c. Tetrahedral d. None of the above
Fe atom in [Fe(CN)]'- is:

a. dsp? hybridized b. d2sp? hybridized

c. sp3d? hybridized d. None of the above

[ Co(NH3)][Cr(CN)e] and [Co(CN)6][Cr(NH3)s] refers to:

a. Polymerization Isomerism b. Coordination Isomerism
c. Linkage Isomerism d. None of the above
Trans-isomers are optically:

a. Active b. Inactive

c¢. Opaque d. None of the above
[Fe(CN)g]*- is a low spin complex, because CN- is a:

a. Strong field ligand b. Weak field ligand
c. Ferromangetic species d. None of the above

Square planer complex is a s special case of:
a. Tetragonal bipyramidal complex
c. Octahedral complex

. Tetrahedral complex
None of the above

o

Greater the CFSE of the complex,
a. Smaller is the stability of the complex  b. Greater is the stability of the complex
c. It becomes optically active d. None of the above

2 USTM/COE/R-01



1.

3.

4.

6.

a) Why does Cu (II) form Squ
tetrahedral complexes? s i

b) Give a brief account ofthesph ing of d-orbitals in an octahedre
field. 3 :

a) Explain the significance and utilit f mer diagram of an elemen

in different oxidation states. A _
b) Explain the origin of coloro served in sition metal compounds

¢) When does strong dlslzortumbccur
What are its impacts?

a) Discuss all types of Vander wall’s
showing examples.

b) Write the postulates of VSEPR the

¢) Name the following according, t
(i) Ky[Fe(CN)o]
(i) K[Ag(CN)2]
(iii) [Cu(NHa)4]SO4

b) Deﬂne hydnogen bondm 'h ) anol is more volatile
than p-nitro phenol? 5

¢) Calculate the bond ordex of Na' ular orbital energy
level diagram. o %o

d) Menﬂonﬂmhybd i 1 followi ecule s/ ions

(i) CO> (i) CHy*



